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_Date }

_ﬁj-_T“a tLe_Ia_ﬁa,Lcu.La_te_saJ,cm_.;woF a n_empioqe.e_gf (57 1 -
_.4,]_. his basic pay (take as input From usexy)-Caleulate

~gYoss Salary OF employee:-let HRA be [0% OF

_anim_piy_&_t A be 5% OF basic pay-let employee

| _pay proFessional tax as 2% OF total salary-Calculate

_J#_ net ealary payahle aFPtey deduckions. e
I

|| Date oF completion

Rermark

o
|

S:‘gn- OF StaPF

‘;

Probklem DEQCT:‘p Hon -

The program take as l'nput Salary OFan emplayee

given his basic pay FProm usery & calculate gross.
s WRY

Salary of employee using HRA ,TA & TAX

| Theory-

Explanation -

Necisinon mak?na Staltemen+s In n*roq-rammlna

lanauaaeq decides +h9 direction 0OF Plou) OF D'rna"ranf

execu-!-mn De&/sSion mak:na Statements QL\!allab!e_

LN Pqun are_

* iP gtatement

* IP... else statements

* nected [F Statements

* 'p -ellF_|aodder
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Dat;

\Ff condi+ion:

]1

# Statements +o0 execute |F

|

# Condi'+ion IS t+Tue

it

|
I
i‘

Exsample :
| R == ™

i= 1o

|
i
!

B Y STE W

print ("1o is less +han 15")

Pw‘nt ("L am No+in (e'")

Nest+ed iF Statements:

SL,:nta:r_ :

IE (condi+'on 1):

# Executes when condi+ion [ s true

If Cconditon 2):

# Executes when Condit+ion 2. is true

# F block I1s end hevye

+#+ |F block 1s end hexe

 Example
= o)
LB (= =10):
# First IP Staotement
PE Gl elBENn

# Negted - IE s+atement

print (“i is arnalley £than (5")
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Hi
| # I only be executed [F Statement abov,

# (1S 4xruye

I iF (i<12);

1 ,m*i“n-t (i ls amalley than 12 tod)
else :

print ("i is greatey than 15")

Outputt

%}' Is _Smalley than I5
|

| | IS Smalley than |12 too

IF-elif ladder

Sgn+mx!
iF Ccondri+ion):

statement

elif (condi+i'on):

Statement

else :

_j. Statement

Eoxcample :

=
[E ( F=21p)"
print (i (s 10")

= [5-).'

[
elfE(i=
print A I ),

oI E (=200

print (“iis 20")
 §

else’

orinkt (“i 1s not pw’sent”')
I N
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_._l_&CLEFLLthLleut ac;Jacm cpay.

ku Ca!cuiai:e_hara = basic U e

D
s
a

ay
_qﬁE Calculate ta =basic pay Rin-ns
I &

6. Caleculatr total . Salary basS/c Png-f-h'ra+ta

——

17- Calculate jmrc)I%-z.f%sinr:(:u +ax =to tal Sa!a'rbz""n.o:»

R- Calculate 'Sa IG'Y_:.} _POL}ﬂb'P - total Sala'rg—-
| anFef-:m‘nnaJ +ax

A pﬁn"f: Sﬂlﬂ}g ijahle

10-5+np

Pypgvyam :

Code :
hasic —pay =1n

nut ("Entey youy basic pay:”)
| 7 = J !

/

-

basic pay =Fleoat (basic _pay)

b i T

IE basic pPpolp<o: # basic pay Cannot be
e T

lecg +han 2evDd

print (“Basic pay can't be negative -”)

: E:xf‘i..' ()

hya = basrr_nag*o | #hya Is Jlo*e OFbasSic pay

+a = basic pay *n.pt # £a IS 5% OF babic Dau

tntal _Salavb:.. hasic pay +hya + ta
DTonqsrona\ Faxes i-o+af C;ala-rg D07

# o'mPquonal +ax 18 2 % oF total Qalofyb;

oAt Sal(nh; pagahle ~+otal c,alaryg -

.f | Page-E)
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basic pay

Aasic\ Y

GG

Ve

Print Basic pay
can't be negative

|
|

Calculate Hya
Caleulat+e Ta
Calculare total_salary

Calculale pro Fessiona)
= Eaa

Calculate salary -
payab le

NS

¥

./ stop J

Print Hra R P

total_salary ,
ProFessional _tax,

Salary - payable

i




Date

print (".Qalav}j: Payable [s ' Salary ~payable)

I g J
P'ﬁnt (" En+re amount in d:’91'+~5 23

Qutput :

1l lnput . o006
= | T

0/P:. Salavry ij.abfe s 11270.0

2] input . O
0/P :Salary Payable (s 0.0

3] input - [006D

0/P . Baaic pay can't be Nnega+ve

Page-(5)



Enter your Basic pay: 10000
Salary Payable is 11270.0
Enter amount in digits.

[Program finished]l]




| Ascignment Nopo.2

|
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! Title- To accept N numbexs Fyom usSex. Comnuh‘?_&__—
—fﬂ‘e—_-dJSAplag maximum in list | m;mmum In 114:1‘:. sum
| _®oaverage oF numbers.

i
1

Date oF ¢ omjnleHon—

Remark -

L 1Sign. oF stafF -

i
B st
|

Problems Descyiption-

The progyam® accept N n'npujz_numbﬁls_ﬁrﬂm_
user & perForm following Operation on list Compute
& display max imum number in list ,Minimum
number 'n list ,Sum & average OF Nnumbers.

Theory- Ligts are just like +he ayrays , declayed in
] T 7 g
Other languages . Lists need not he homogenous
K ) always which makes it IS a most powerful tool
In Python. A single lis+ may contain Data Ty pes
like integexs, Strings ,as well as Objects - Lists
are also Very wuseful For implementing stacks &
queueS -lists are mutable ¥ hence ,they can be
altered even aFtey +heir Creation -

In Du-l-hon slisE s a tune 0F containexr in Data
C.l—-ruchnrp‘; Jlhich Is ueed t0 Stoye multiple data

at the same +Hime . Unlike Sets ,the liSts Lo _python
aye ordeyed and have a definite count -The elements

J;J'ﬂ a li's+ are I'ndexed orrmrda'na +n o _deFinite

Seguence A +he rndexma nF—aJm‘l- 1sdone wiith o
i S-Lembhe Page 0
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_being +he Fiyst index -Each element 'n +he Ili's+ has

| i+s demeho place in +he last , u)hmh allows

dunl:cqhna 0F elements (n fhe lis+ ,uwith each

elerment hawng i+ own dis+inct nlace &cred:bnﬁJ

| Cveating a list -

List in Python can be cyeated bu Just D}acina

. +he sSeguence inside +he squaye b*rackef—s i [)nhKe

| Sets hs+ doespn't need abu:H——ln Function For

I Creatinn of list A list may contain duplicate
| Values with t+helr distinct position & hence, mult-

’ iple distinck oy duplicate values can be pqssed
|

| as sequence at the time of Iist+ cyeation.

_# Python @rogyam +0 demonstrate.

l

1

]i' # Cryea+ion OF Lis+.
i

{

# OreaHng a lList

60 ol

| print (“Intial blank List £

]g'rfnt (Lis+)

Qutput :
! Tn+ial blank list :
[]

=3 C'rpaHna a lis+ with

# mixed +-unpq 0F Values

F#(Hav;na numhers R SH;noS\

Lied = [1,2 "Hesks™ g 3 2 6 ‘Geeks’]

Page ®
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e i—
———————— i ———
e p—— ———

e ———

e i
. i

print ("\n list With +the use oF Mixed ,Va,!-ue.s,;l’l————

peine (lta®) 0000 S
B V) 7TV L - SRR e
List with .i—hc_use,aF_m.I::c%d_y_al_ues'._____ SRR o+~
(1,2, ‘Geeks’, b4 ,'Foy’, 6 ,Geeks’] Bilie

. Adding Flements +toalist+ S R
@®. FElements can be added to the list by using builit
. In append () Funttion. Only one element at a time
. canbe added to the list by using append ) method
___| Por addition oF multiple elements With +he append
() method, lnops are used -Tuples canalso be
____added to the Lis+ with the use oF append methd
. because tuples are immutable -Unlike sets ,lists
__can also _be added to the existing list with the
L yuse oFappend ()methad . append () met+hod only
_Ti;,mgrhs_ﬂﬁom.a_ddn'—l—ian oFelements at the end oF
®  the List, For addition oF element at the desived
| position , inseyt () method IS used -Unlike
| _append O which takes only one argument, insert
T -

| Othey than append O ¥ insert () methods ,theve's

| one _mnove _method for addieHon oF elements jexterd

| (), +his method is used to add multiple elements
ot the same +ime at+the end of the lis+.

| Built -in Function with List -
___Ji_m_a;x;_m,—lgtu_n:gmnxfmum element oF given |isk
_min ()-veturn minimum €lement OF given lisk

Page @)
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, _____:______—-____'/___.:—’—;—"_’
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]

___sum(_)_Sums up. fhemum beys m_HmeJJs+-

_COMPUTE _AND DISPLAY AVERAGE DF NUMBERS ———
A_Averqge - Avevage I8 the Sum oF elements divided

i by +he numbey OF elements.

_h___ggﬁll;l:bm_ T o

— Step | : ckayE
__J_Sj:apg__Rf_adJ:he_numbcr oF element in the list.

@ Step3: Read the number Nnuntil Ibop in yange nu

L Step O _Anpend +he all element In hq+-

- ——

|L€"905 Caloulcf-e sum (sm-= =sumcls+)).

-‘ f;-h:ns Calculate average avVg=sm /num

'JSHan 7 Pyint Ma:umum PfEment [n +he li's+ Vvalue

| Mminx(1s+).
. step8: Print Minimum element in the listvalue

| min (1s+)-

| stepq: Print Sum oFelements in gi\}en lis+ is Sum

steplo: Print Average OF elements in glven /st is

(N avg-

Cd‘PID 11 Stop.

P"rog Tam Code-

i e
; n=int (‘nput ("How many elements 7'
| Fox | I'n Yange (n})-

Prr‘nt ("entre |ls+ eclements:?’)

ele = In¥ Cinpat (V)

18 £ .append (ele)

i
i
l
l
(|
’ Sm=56um [(15+)

|
l
|

Q\/g - Smln
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,Accépt the humber oF elemuﬁ(
in list i e Rl

SSRRETEST e
Read the number n until loop
in 'mngt num

w

'Re
|

&

!rAppe,nd the all element in list

Calculate sum (Sm=5““m('5*;)j

V

Calculate avevage av’g=5m/num
Pyint maxmum
element in the list

N

P-rrr'rl:. Minimum éelement
In the Il'st

/ P-r:'n_t Sum OFelements
In 9iven ]S+

P:n‘nt Average of element
In given |ist

d
()

" s
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s

— Pﬂnt C” AR (P elemmtls__,_max (154)) o

ﬁ.t._p'rj.nt ("Minimum element is ", min (15+)) S8
L prink ("gummation OF element 51" sum (154+))

--u__u_pTJnj:_we.xagL_o&ﬁLEqun'r rast a\/a)

ﬂutput-m
.*_____i_ﬂH ow_mMmany elements 2755

| Entye h_s-{-_e_Lemen'rq‘

Entye |/'s+ elements:
o 14

Entre |is+ elements :

Wi
Entye list elements:
q

Entre list elements:

)

Maximum element s+ 9
® | Minimum element (s 2

SummatHon oOF element 1s .28
Av eyage oF element el o A

Page @



Type "help”, “copyright”, "credits" or "license” for more information.
>»> 1st=[]
»>> n=int(input("Hown many elements?"))
Hown many elements?5
>»> for i in range(n):
print("Enter list elements:™)
ele=int(input())
1st.append(ele)
sm=sum(1st)
avg=sm/n

Enter list elements:
5
Enter list elements:
2
Enter list elements:
7
Enter list elements:
0

Enter list elements:
E]
>>> print("Maximum elements is:",max(lst))
Maximum elements is: 9

>»> print("Minimum elements is:",min(lst))
Minimum elements is: 2

>>> print("summation of elements is:",sum(lst))
summation of elements is: 26

»>>»> print("Average pf elements is:",avg)
Average pf elements is: 5.2

> >




:
I
i
|

1

—I-Student scoves aggreqate greater than 75% then.

_______ sl
|

—y

o

4 Title- To accept student's Five cours e_rm aiks.... b Compute
| his/her vesult . student g passing iF he /[she Scores.

'mth en_the grade IF Fivst divisinn . TFf aggregate Is

——{-502>=and <60 ,then the gvade s gecond division.IF_
—l-oggreqate is_ HYo>=o0nd <50,then the grade (S thivd

s
Ko e e iG>
flinligad Insituies

G- [ o

Assig nment_ No 3

Mmarks equal to and above U0 /n each couvSe . LFf

~the gvade s distinckon .IF aggregate is 60>= and<

_division.

Date oF Complah'un jr

Remn-rk |

51'311- 0F StakRFf

—

Problem Description :

The program s _+o Qccept student's Eive Course mayks

and compute his /hey Yesult. student is passing iF he/
She Scores marks equal to & above 4D in Cach Course.

IF Student Scores aggregate greatey than 75'.., then

the 3~mdﬂ Is distinction . TE aggregate [s 60>=and < 75

then +he 3-mde P Flrst dr\LlﬁJ.D.nJ&QggJ_eg_g_te_Ls_Sa):_

|

and <60 then g'n_'lde s Second division -TF aggyegate

IS Uo >=and 50  then the gvade [s third division.

Theory -

Decision Makr’ng 'n Rf-l-hOn

There come Situations in real life (When we need+o

make snome decisions & based on these

S.Lembhe Page ()
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-—-—f—--u-L__ki P S AR T

— | dectdinn. ait Asorde Jhat & houd_deLm
__Smilay gituati on_avise In pyogyamming also

. lwheye we need to make Some decisfons &

based on +hese dec) am::s.AJ_e_w_u_eﬁ_cu_te_f:he

L hext block oF Code.

is —Decrsion _making statements in pYogyammirg,
_Hh_*lan%uagz_df.mgs_ﬂgﬁﬁdme;tmn_oﬁ_ﬁmw_
;nvog_am_e_e_.xr_ujion Dﬂﬁm_majgng_sfqtemmf
__,_’ avarllable In python axye:

e IF S'l'a'ifmant

e TP o O P QY eI ey LE
\

J

« nested IF Statements
« JF-elff laddey

i} 1E statement
IE s+atement |s +he mosE simple decision

,’. orherwiise nNnot.

SuntaF:

I i condition:

/! # Statements +o execute IF
1[ # Condition s tyue

|
fr
I
J
|

Heve . Condit+ion after evaluation will bhe eithey
byue 0y False - if Statement accepts bhoolean

values- [F £he Vvalue is tyue +hen i+ i)l eXecute
I
Page-@
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lt I SRS, (o

---»I ..'l:he hlock oF s+a+emen+s below [t _oFheywisSe
1: Nnot. \We can use candition with._ baracke.:l::_L_)_
..also. o BN P B TN PRL: <
'1'1 As UJLKnm..LL, i:b.nn..uﬁe,S_Ldﬁntaﬂ:La
iden+iFy a hlock . So +he block under an [ E
TL Statement will be ident+iFfed Qs Shown in
P W,_an. below example.

.Q« ' F condlﬂon boses
il ____Statement |

liL Statement 2

1i_*_m

| Heve [P khe condition. is twue ,iP bhlock

s waill _considey only et+atement | £o be [nside
# (+s bhlock

Example .
# python pryogyam to illustyate TF statement

i=10
S0 e 3

prink ] o Bl T ST o e o)
P-.-.‘n{: ("ILam Notin pEY)

nu'i-]r_)ut i

Tam Not in iF
As +he condition o-rmenb in +the | F Statement

is false- Sp,the hlor_k bhelow the iF Statement
1s._not pxecuhad

f Page—@
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| i ~ Date
l\ Sinbgad lﬂlllhlit " 2

e e e ————————————— N ——————————— s——

__JJ_J IF-else 3 .o ke e T
The_-LLsi-cf_emem-s alone tells us +hat (Fa
| condition s +yue 1t will exeﬁu,t-e_a_bioﬁk 50
_#L_Stgieme.n:ts 2, 'F & +he Condition (s False 15
__.__LUDM_BUL_LU.hﬂt_J_&LULan*‘ +6 do Something
__+LQLS£_J£_th e Condition is Falsg_JiEJf._Lome&rbe xy
elae ctatrement.We can use +he else Starement
With IF st+atement 46 execute a block of Code.

ﬂﬁmhen +he condi+Hon 18 False. P o

Syntasc -

[F (cond/+lon):
# Executes this block I F
# Condition s true

else
+# Executes +his block iF
H condi+ion 1S False

l
[_
f

@ ExXample-
¥ ou+—hon D'rna'ram 40 illust+ate IF else Statement

-‘Hl qu-r/bin /Du-l-—hon

; =40
| OB e s o 0
: # Fiys+ |F statements
1l (0 e < o
'D"fj‘n'l: ("i'mn_in IF Block)
else :

wan-l— i a'reahg'r t+han 18'")
mrm-t (“i'"m l'n else Block')
n-r|n+- “i'm no+ in (F 2 not nelse Block"”)

Page - ®)
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| Ourput:
i 1s greatey +hon I5
L i'on [ eslse BINER T
| iI'm not in iF & not fn else Block

L The block 6F code Following the else Stntement.
| is executed as t+he condition present [n the /F
| statement is False aFtey call the Statement
K Ag,_mh.fcb_is_&ao;t_iLb_Lach_ﬁmLtbaui_&paczS )

+
1l

a_'lJ | nested-1F

I A nes+ed [£is £ stntement that (s the tavget

13 OF anothey |F Statement .Nested [F s+ntements

means aon i F Statement ingide anot+hey |[FStatement

| Yes, Python allpuis us +0 nes+ /F Stante ment wi+hin

IF stontement . i.p ,we can place an IF _Ss+atement
inside anpothey (F S+ntement.

_. | Qt.'ln{'O'Jr :

IF (condi+ion 1)

LF (Condi+Hon 2)!

|
i # Fyecutes when condi+on | is +rue
|

# Execute when condition 2 1s +rue

! # |F Rlock 1S end hexve

. # |F block is end he~e

Example-

I # nu-l-hnn DTDafam_iD_LLLuSﬂaiﬂ_ﬂ_eS_ted_L&S_tai&mﬁn:t_

H #!/uf;'rlb:n/nuMnn
i= 10

ﬂ Page-()




False
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| B ody of

nested else

b

Statement just

below

IF

b




) | Date

“I e e e
! S R b
|_IF (lzx 7 i SRS
e # Fivst PRI e s e o
| - KLK a0 e i el

I o 915157 AN p7l‘n+.~(_i_1.5#sma!!e'r -H'mn !5 )

e #' Ncsksd ~iF 6+atement

_#,_wx.l-!_..o_nly be executed th}a.te_meaj:_ahoye
I T enomet e R ]

. X i B - i AT T o o SRS =2

”, el & _prink f's Smanazrﬁ_-lﬂ:m_m_m_*!:ao_l,.g =

: .-H__-ﬁ_QISeL 1A
il —_print (i is gyeatey than [5')

-

QOutput

——————— . ot et e

| _1a Smalley +han |5

1 1 is emalley +han 12 100

&LL_F -elge |laddexy

_ B eru.uam_can_dgudﬁ_among_mummupﬁons
| ThL_.:F_smte_m,aaj'__axe_ex_en.uizd_Emm_tbﬂ_tnp down..

Il As Spon_as one of +he condit+ions controlling Hhe

IF is_executed Y ,
IF noneée OF +he condi+ions /S tyue ,+hen the Final

IEis 4rue, £he Statement associated wiith that

)

|| plse g¥aterment will be executed.

2 Sq nax .
[F Ccondi+ion):

e Statement

elf (condiHon):

S+ntement

y Page-(©
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WS
Tegt N
. expression
o

Yes | Stotement)

LY
\
~
\

Tes+
\’C—DCP‘TBSSl'on
0 i

Statements | . |

o

Statement 3 .. ... . .,#

Body of else

e 2N

|Statement just
below it-elselfF

!
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el e s . i

else. g & S
, ,*___._.ﬁ.__sj-o +emant i

- ___“hEmrthﬁ Bl W1 Ay

| ¥ pq{—hnn pfogvam_i:o :uumuwmut
LF L lusy /bin /python

e ——— 5

—— —— R — e S

D'n'n-l- Gl i
L el\F {.::15):

! Pﬂ‘nt_('_'i le L€M)

i ellp (i‘-“--‘-"-'lﬂ)'-
Ptfn-l: Gl 1 B W o Y|

else
print ("} la no+ present)

——

Qutput -

1 1S 20

i.i

i Alanﬂ-me

1 c;{—gn X Stayt.

s+-en 2: Read the marks oF Subject+ (n the Jis+.

]| ? » \
| '

‘S{—Pnl-l TF any Subject marks s _less +han Yo

Si-pn'i‘ P-nn{—- o'rade ls Farl
l] 54-906 Anne_nd_i:b_LQH element I'n |15+ .-

Shﬂn 7 4 P-rm+- all +he marks of Subject in |iS+.-

h shon 8: Calculate avevge avg =Sum (Is+) /&

’ S%-pn q: I'F average greatex than 75'"n_q.tb.en_‘th£_gtad.L
Il Page—
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| Start |

p— B

N

Accept +he mark ofF |
Subject Fom the user i

s
'Read the numbey n

.Untr'! loopr'n Yange
hum

—

’ L
Print grade Is
/ %

Farl

WV

Append +Hae all
element in Iist

Print all the mar
of Subject inlist
Calculate avevage '
avg= sum(iIs+/5)

[F

o T

(avo>75)

12

7 Print 9':rade,is
“/ Dis+inchRon




| T _dlsi-mctmn

L 6tep 10 Print gvade IS D:ancHon

- Step 11t . eI F aao'rea-ya+e e 0>= and <75 t+hen the
'.‘-_..__ e S de;JS_FLIS_‘”_dJ_VJ_SJ.Dn
_,..*SJ:&p_J:L Print o-vnde fe Fivst dirvision:-

|

I Stepl1a: elif oamreo-mhe is 50>=aond <60 ,thenthe
|

i GTOd.E__lS_S_E.CQnd_dJ_VJSIOn L s
.M_Jlﬁi&;Llﬂ_;E'r_Lni_g_-rade is_second dnuc.mn

Hqi.s te_in_ﬂLLF_ag g_xe_gm{:e_Ls_’:!Dl-_andﬁL_tbﬁn_t:hﬁ_
_% g'rade 16 +hivyd division.

| Print grade (S thivd division:
' Step 17: Stop

PanTam code.:

# cyeating an empty list
b o =) 5

# number oF Subject as input

n = int Cinput("Entey numbey oF Subjects: )
# itevating till the yange
@ | For iin Yange (0,n):

Sub-= fn-l:(l'npu-I-{”Fn-i'E'v mayk oF Subjpc-l-! D)
1E Csiuh < 4b)"

pw‘n{-("enrade - Fai'l™
ex1t0);

ls{:~appgnd Csub) # adding the element
print (Is+)

avg = Sum (ls+) /&

(f (avg >=75):

nrm-{— ("Gyade : Distinctinn’)
elif (a\Ia S=6p &% avg <75

print ( ‘GTodP Fiyst+ division')

Page-@)
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.

p‘rfn-t (" Gyade : Thivd division’)

elge :

|
]

p'n'n-h (" G~yade : Farl")

b
1]

!

J Qutput:

i{ Entey numbey OF Subjed-q g

" Entey marK quubnecf ik« A

ii Le7]

_&Enmﬁr Mark oF QUhled— 29

| [67,897

1 Entey Mmark OF Suhjecf':C?O

[67,29,90]

l' Enter mayk of Subject: 4§

[67,29 ,90,45]

|

Entey mark of subject: 78

[67,89,90,u5, 78]

Gyade : Fiys+ division

>

15
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number of subject 5
marks of maths 67
marks of physics 89
marks of electrical 90
marks of mechanical 45
marks of progamming 78
marks: 369

average marks: 73.8

prade:first:division

[Program finished]}}




ek T Date

Sinhpad frstitutes

Assignment No . .

S s |
—Litle - Tn_.a CCEpt_-}-mo numbmﬂ: Fyom uqaL&LazppuEﬁ—{
| Smallest divisior & 9r9a+e<:+- common difvisiay —=3
OF these two hnhumbers.

—||Date oF comple+on

| Remark R

51'9.n .DF Sta FF

3
1

Pryoblem Descripton :
The _progyam tokes +he Fryst o numbeys oF the
series Qlona Wwith 4+he Nnumber oF texyms needed

and prints -an Fibonacci series.

T")E.D'Yu-

GCDh —The greatest numbey which di'vides each oF
+he +wo Or more humbers IS called the highes+
e Common_ Facroxy (HCE) - T+ 18 alSo Called +he Qn-paj:e.qf-
Commpn_Measure (GCM)Y ¥ GveamsLCQﬁnm_an_diziiim
(Gcp).HCm & Lcm arve diFferent.

Example - The highest common Factor 0F 60 & 75 /s
|5 because 15 (S +he largest numbey which can
divided bo+h 60 & 75 exactly.

There's anpther way to F/nd put HCF

- bu usma m-nmp Facl—n-n:aHOn method OY

. bu d;mdgyna +he Numbeys Oy division method .

GCD Example
| Find +he GDC OF b5 & Y0

| S.Lembhe Page-(1)




. The d:wso*rs OF qs are ! 1 1-501 & '45"_
_The divisovs oF Yo are: 1,2,%.5,7,8,10,20 &40

-

Step 1\ Find the ad:vnsors oE g:v;n numbem‘

Sfepj.L Emdnj*he q're.ai‘es+ Aurnbey +hat +hese
+wo lis+s Shaye in Common-InthiS examgple

WS, o A s v e 1 Y SN [Sp——

| 3

-t

LCM Leastﬂcammon muH—mle which 18 also

A T mmentoned as Lem is +he basics of mathemahcs.

— 4 This fegic ,uie have leayned in ouy primary

\f
il

Classes . Pmmcanu -H-w Common mul-l-:nle. 1S a Nno .

which 15 a mul-Hole DF +W0 pvr mo-re numbevys.-

1

I
I

L.C.m 15 used i:n de teymine the leas+ commen

Factorx mr_mul-f-r‘PIe oF _any Huwio oY more gi\/e.n

|
{

m«}-eoeys Foy example, L.c-I¥I oF |6 & 20 wiill be

I

2 X 17411.:4(5“-20 , W heye Bo 1s +the Smalles+

commen mul-}-:pl? Foy humberys 6 & 2D

Alnn3 wirth +he least common mul-f—fp!a-;

Yyou must+ have heard about +he h:‘ghesi' common
Fackny . H.C-E., wihich is used +n devyive the

hfaheq+- common_muliiple Pactoys 0oF any +ww e oY

P —— —— A— —

mn-ra awen integeys. If: is also called as Greatest

C.nmmnn Divisley . Fay example, +he H.Cc.F oF 2,68

la 2, because all mm&_nmme_zs_can_md_md&d_

with -l-he h:ahes+ numbey 2 (‘nmmnnlu - H.cF &

L.c.'1 & bm—h have Pmml lmnn'f-}-anrp ‘n_ Maths.

| cmM OF two Jnhnae'rq n&h ,usually denpled

hi Loy aH) 18 +he Smallfs+ nnm-h\[e m+eae:f
= |
Page- @



- ,:f‘li“ e —— ———

| that is divisible by both a &b &wmwmgm

2 b to know) iF theye 0OYE
o g 't,ba_\.Le_

_ Aurmbhera A 58 ¥hat d/a and d /b does’n
a yemalnder - Such a numbex LS CaHe,;L_a_LE.Q.Sﬁ——

commbon multiplier.

LCMm Example-

Fi'nd #+he Lcm 0F6 &8 =

The multiples OF 6 are : 6,12 18,24, B

The multiples oF 8 Qre . e l6,1L¢,91 yo,

So, the lowest Common Mul+iple g2y .

Also ,Wwe can calculate +he LM uSma +he

Pollornyng Fanrmula :
Lot v ) 20808 4iged Ca b))

Notl we can Bind +he Lcm ofF &€& Rare .

lem Ca,bh)= 6.8 /gcd (6,80 = HRJ2 =24

A4907f+hn1:

el

S+art

Step | Take [ Declare Variables

5+Po 2! Accep+ a vandom Value Foy a Nariable'Xx'

Qhooa DIC.DlDu / Prinkt values m’l numhrérl‘&numben_

5+aP g Check e the numbe~x | Va e te eaunl 0 X

exit +he pYogYam.

S#—eoSn check numbev | value )s eoual 4o x exi+

+he progYOm .

sf-ens' rheck numbe'r 3 468 WET eoual Fo 0O wihile

Page- @




P START )
L .

Take /Declare vawo.J
bles

ACc

Accept the values For.
+Wo0 inteoer

N

Display /Print valu
0F Nnumbey | &1

HCcF

'cmcumﬁcw/&- 1 2

Calecwate LCM/
scp

L

| D!Sp!a /Pfrmt
Values oF G'CD/HCF

I
D:splag/ Print
values of CL!*?)/




—  —

—]

Sinhgsd

tmatituted

I Step7:

Auynney D18 -

Step7: Calculate GCD / HCE

humbey 2) /hCPR;

Caleulake Lepd 16cD taleh (Aumbey 2 ous

Step 8. Display /Print +he Value OF GCD /HCE

Step 8: Display [Print the Value of LM /SCD
SToOP e
Progyam: . i
Code -

# Python Program -Find HcE & LCM

b o (B ia e e A 2 0 oy BN 15

Prfn+ (" En

num | = Input+ (),

IFE num!l == X"}

e:xf-i—();.

else !

huma = input ()

-
—_—

numbey | = in+ (num1);

numhbey 2= in+ (NumM 2,

temp! = numbey |}

tempa Numbey 2;
while temp2) = 0,

m ot s 6 31 > 5

temp 2=Ftemp [*). tem 2
temp = £

hee =templ;
lemn = (humbey [ ¥ numbey 2) /

hcF

5

Page—@



| print ("HCE :"; her)g
| RN ey = Y ,dem)

Ou tput :

Entey 'x' For exit.

Enter +Wn numbe~r 46 Find

HCE & LCmM

2

- 20

HCF -y

ICh = 0D

Page-@



nter 'x' for exit.
nter two numbers to HCF and LCM:

CM= 40.0

Program finished]f§
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[

it Assig nment No &

- . ——

H Title: To accept a number Prom user and print. . =
i digits of number in o revevse ovdey.

e | N

Date oF Campletian i il

Remark

TS—

Sisn OF stafF

B 520 oo okl om0 R SRR s
i _The pyogvam is+6 accept a number (e T E ini-egi
& with separating th e digit oF number wlll .

Teveryse the original number R display +he

yeversed nhumber. PR L ¢ e VORI

Thegwq 3 ) O
Heve we yead a number Prom user and veveyse

that number using Some arithmetic Operatfan
ke _mood (%) and Flooy division (//) 4o Find

| each digit & build the ryeveyse oF it .The Follo wins
python program Yeverses a given multi-digit

number- Inthis example, we Simply print._the e
d l,git'i__i_n_Ie.\L&TS-E_O:Y_d.EI___LU_I:J:hnu:l:.IemoYJng T

veductant 2eves. Foy example, i +he input number.
is"looo",. +he ~veveysed numbey ds‘s’n!aged will be

“"oppl” 1nstead of ‘')

Algorithm: 2

START S
. Read an input number usSing [nput ()oY yYaw._
| S.Lembhe Page-(

1



R
e ——————t - ' -

el 1nput () R - et .
2. Check whether. +he \laluz enn-red Ls...mngu__
1; AR e R R .

o ——

+L3 Check _integer ls gfeafer_thaaa_ﬂw
+‘* _Initialize avayviable hamed yeveysed to O . .

4.5 Find vemaindey of the inpu+ .numb_ar#_by_us;ng
. mod (%) opervatoy ol

L 6. Now multiply reverse. with 1o and add
44 Yemainder to it. LS

=AY, FINNY munde_mputnumher_ w:fh__Lm*_-_.. it
_.__,‘_,FB - At some point Input number will become o

_-‘_Tﬂ____ﬂapmt__smp_&_e_,luntu_mput_numb ey is not
. greatey than Zero.

1o, Pyint +he variahle YyevNerse.
CTopP

- —— .

—————— e e e e————— e e ——e

Pxrogyam -
CoDE . I R,

1. # Puthan P'mmram 10 Rmysﬁ_a_numtm Uﬁlng_
while lnn[g

o

. oy

3. Reveyse =0

- u. IAJhile (Numbey >0)!

‘.l R . - G . ‘D
l!
. 6. peveyse = (Reveyse ™ nY+ Remindey

f] Z. Numbey = Numbe~y // 1D

’f 8. Print ("\n Reverse OF enteyed number is =
4‘_ % d"” */e Reverse)

Jufpuma$me_ T iy
Reveyse numberis: 3289 p09€'®_

2




(sTART )

L

fReaol an input number

using lnp.ub 0) 81’ () duald
Yaw - Input ().

o 4y Bt I - IR ._._;.P‘. J.-a,.'. ‘lg}.) )4].)!1)
300 Y P

N . ‘
Tnikia e o vavidble name 2§ A2l 2
) sReverse t0.40u 5l ducny .ol asitottial
.‘r".l 3 Aoy 7\:-.'_%{'.‘. :_,.,. = ‘.:
o

o ¥ -g_\ . :

Number >

O\

AQIC dib a3 Al 304G 2l A
Y admal = AWTQy 8O ks J“-JJ.QJ;‘
Qeal auad rsto.

(dPirRyY T ToaveS

Find Remainder using mod 5.8

(%) O pevatoy

L 2 AWST %)

LA v o

Calculake Reverse Using 3
W r IGO0 L) Remaindey « .. l’{.‘-’\sq r'\uf‘”\Jq 12
*{QU‘ ji"

.Rediscover Floow Number:

-

tadon A\ e

o

Display [ Print. values,
,'9 '._F:.t ‘Rg’ueyse{' .

L.

/

| T | e DL, &
3 \
¥
; N
- D 1A TR N B Lr, ‘gﬁ{:(é“b 1 o P W3
4 : {2 % -
= S o me AY

PN G N R
A X 9 kel b
L3 By LS

.2 ¥ WV 3.5
e 3denyy.
3 Foux
o\

)

T



Please Enter any Number.9823

Reverse
Reverse
Reverse
Reverse

of entered
of entered
of entered
of entered

finished]l

number
number
number
number




S

e e I T —

= *';._*_ ———

-
l
i
|

s | Date .
-

Sinhgad Inavituded

o] Assfsnmen_t I s e

—

e i —

- _T_n..He Fa accept+ From usex. . the numbey OF Elbonacci

numbers to be 9ene~rqf-ed__&431m+ the Fibonacch
Serres.

Date of completion |

m—

|
1
|
1
|
!
|
]
|
|
\

‘ 51371 of 5+aFF

Problem Descyiption:

The n'rnaﬁrnm +akes the Fiyst +two numbey oF +he

Serfes along wii+h +he Numbey of +eyms Needed |

R n:rm+s +he Fibonacci serles.

Theory:

Eibonacel Geyies generates subsqguent humber._bg_l

addfn_q +uin p'rev?nuq numbeys. Eibonacc] Sexies
Stayt Fyormm +wn numbers - Fo & E, . The Initial \lalue

OF Fo & B, Can he taken 0,1 oxr 1, | TeSpechively

(generally Starting from 0 & 1) .Thatis

Fibonacci Sexies satisfiles +he Following ma{-he.ma’n

CondiHons -

F'f} = Ff!"" + FEn-2

So o FibanacCti numbeys [n +he Flnllnmina fn%-eg'e,L

Seguence , called +he Fi'bonacci seauenrp
O 1o ipuREhie 13 51, 3l €5 ®q, 1oy

S.Lembhe Page -0)



Giabpad luafielas

:f;.“:‘;‘::"k e ——

-

|

|

t

LFolJpwmg numbers can be calculafedﬂ_ds_-_w--———-
| FazFad E/s D4l Rt

- F3= ,F_.,f_t_Ea__.;_____ '_"-._,._:‘2- -

F_q: Fz_‘*" Fg_z 241 = 3

Fs= F3+ Fyu-3+u:=6 [ike wise =

=4

—— —— e ————— e e

Algorithm- i

N ST ART oo s saFage oyl BT NGRS

Si&p_L._Iche / Declave Va:mnbies FJ_, 02 B i o

Ste p2: Set /Init+ialize Frzo , Faz| Ao s
Step 3. Dp'.sro!ag /Prin+t Nolues of Fi1 & Fa. - .

Stepl ACCe_Pt the Value of n From usey. v

Si-eToE: Fori=2 ton

Gtep6 : Pz = Fi+ Py et
S+en7*’ D!sn!au /Print _the \Value o F+3

S-H:oj ﬁetl ASf;Jan Fato £ & F3 40 F'-:

(ie- F—.-r,_ & F1=F3)

Step q: Rppea-h Step 6 -8 For ntimes

STOP
Program..

Code:

|. deF recux_Fibo(n):

If nN<=1"

3. Teturn N

L7 plse .

i vyeturn (yecuy_Fi'bo (n-1)+ yecuy

Eibo (n-2))

§. # take Fn ut. Hrom +he USey

4. .n A Cinput ("How many teyms?2"))

Page- @



(START )

l

L’I’a.KE/DecAa're Variobles '
Ediba P .t

SeL YT AR Tas Yot oF
£ =4

/DlSP’d}j /Pfrlniz va!uea7

OF Fi ¥

Dfsplalj / Print valu
oF F & FQ_ :

“No

af
l bt o S e e STAR )

Display [ Print &
values oF £ |

set/Assign F2 to F
: ® F3 to £y




| 8 Check !F the number oF tevms Is valid |

L 9. A N
| 10. print ("please. enrer apositive [nteger”)

s S e e - Y .

e _prfnt_t';FibonacuLsequmce =i B ASIEE

B. Pox i 'n Tan L a4 a8 DA
Ry e Crruy SBLRAREERYS . o

g9

Heve. e Stove +he number oF terms (n n teyms.\ale

inttialize the First+ term to 0 & the Second term tol.

Tf the number OF terms IS moye than 2 Wwe.

use a _while Innn +n Efnd the next teym inthe |

Sequence hu add:’?—: ng the n'rpcedlno two teyms.

J&p +hen mJ—gﬂrrhannc +he Vn'r:ahle (unda}-e it)

and Continue 0N qu-H-) +he PYOCLSS.

Page-G




ow many terms?12
ibonacci sequence:

[Program finished]M




i-.-;.:_.___.A.s_.s.r‘gn.m ent No.7

It Titles Woite a python program that accepts a——

{ i
e
Sintipid Tmatitutes

B

_str'ng From user & peyForm Foll owing_.sh:ﬁng._ e
L0 pevations- |.Calculate length oF S hc:ng.-._{ Li. S_tr:.!r_)_g.. 4
_yeveysal iii Fquallty Check 0F two Shrings V.

_Check _palindrome . Check Subshkin Dosa™

Date oF campletion]

s

W< i alio s o s PORSROSIOR,

Sjgn . OF s+aFF

Pyoblem Desg c'}'ijr) Hons

The program accepts a shring From user & |

Finds length of shring, Yeveysal oF String.cChecks
iF 18 String Iig Pal:‘nd'rnme -Aga:‘n jtoccep-hq

Substring & check (F the substring (s Found Oy

not & It also accepts Second shring & checks t+he

pqualfhj OF +wo Shr:‘ngs.

Th enyy:

Strings in python can be cyeated usfng Sr'ngle

qunhos or double c;uahos oY _even f:riple_ c’funf-es;-

Python tryeats Single gquoleS the Same as douhle

crLun'I'E‘% I ) python @ Shm'ng_"is dp'QPla ged with the

pvint () FuncHon.

Shring len () method: The methoed lent) yeturn

tEhe IPn_c}-Hw OF +he Shfng

Syntax len (Str)

S.Lembhe

Page-(D)




I >
.

;; S Date
-

’ Simhgad Tantitutes
I

|
—-Eg.Print ("length oF the Input shring [§ " Jen(SH))

Reverse Shtring USing Slicing : logic :sh[:i-1]
__.ECJJ_. s o el e 4 IR et

print (“\n Reversed Shingis:", (txt))

| _P_QJJ_.n.d{o_m.c_SJCT_ Ing : A shring s said to be palindr-
ome (F reverse oFthe shring is Same as i Y. B

-~ Foy example , ""radavy" | S _a palindyame , but
I "radix" is not palindyome.

bstying : To checK [Fa python shing contains

Q 5ubsh-:‘n3 1S ¥ (788 £he R Opevator - It Yeturnsg

a_boolean (erthey Tyue oy False)

E?- Str | = hello py thon

2 Pq%—hon
I1f Shr 2 in S+r1:

print ("gubshking Found 1)

else :

,D'rjnls ("Subshm‘ng No+ Foundf“)

Equality OF two Shings: Tn python, the com pyaiso

nvppwraf-o-r (=) 18 used to check -(F the R'h‘r'ngs are
\dentical.

Eg» Sh = hello python

S0 = P({-I—hnn
IR Iist(str)==1fst (St+r2):

print ("\n Both shrfngq are equal to each othed)

else !

orint ("\n Bot+h f-;hr;'ngg aye not equal.")
[

Page-()




=1 STBRT AP Ryl

smes, | Date

Stepq: Usex. ﬂtxputs _Han I:rmg_gu t gets Stored In
\ariable sk
Sl'er)l U5|na len () Func+on Ieno-Ha oF shr:nn IS

. _‘L____CQLCU Jo ted

JS!-en 3 Drsn!au [ Print Ienai'h OF S‘hr*sna

f%l-&p G Uemo R,e.vejﬁgLEmactLQm_s_m_r)_gJ_slexﬁlsﬁd

|Step 5 JJJspLag {Pyint Re\ze'rsecstrmg i

| Stepé: Shring s compored with yeversed Sb'_mg__
to check palindyome

51-9;::7 D:c;olou /Print whethery Sh‘!nol‘i Dal:ndj:om
e _ oY nnt

Step R (sey rnDth +he <ubs<3+'wna is & It gets

Stored in Vayiable cu bsf"'rmq g

Step 9! Using In FuncHan qubshmo s checked

Step in: D:c;nlau /[PYiInt mbetbm_&ubitcin_gf_SEmngL

Or nm‘:

Step 1). Usey inputs anothey Sking R It get stoved
in variable Str Pa

Step 12: Bot+h Shings are connected to check

Equah‘f—g oF § hri"ngs

stepl3:. Display /Print whethey bon)Sh*fng'S are
equal or } & ks |

STOP

Progyam:
Code!

DL b Jnnu'l: (" Entex ac‘,h-um 1

|
,’.1 print e lenan oF t+he mnut Shring is !, len (sh))

que ©)




S-tcn-t J

"
’ Entey o String
l i = J
| Caleulate fenghh of ashring Using }
: Func fDr‘_D

o

ZDISplcu., /P'rmt IEngHw of Sh—mg/
-

’S’m'ng Is TYeversed usin
Teversal |logic

[ pisptay / Pvint Reversed Shing
Sh‘.irgg 1S compared with -
versed shing to check.

D'iépl ?P‘zmt I-F a -Shr'i'n_q e d
IS pa md'rome 07 N+ iy
o [Enter asubsting
> Using in Fun"Subs hing /s
Checlced

Dfsp?a-y | Print whethey Subsh)
is Found

Entey anothey Shring

lboi’h srrm;osqa're ,

/D:‘sPPd'j /Print both Shings
are equal oy no+

Resccd @rop )
4



i

e
Sinbgad tnvtilutes /j

e

U. print ("\n Reversed shung Jauht, CEXEY)

4B IR Iist (sty)==Iis+ (txt):

| 6. p-nnt ("'it is palr‘nd'rome”)
{7 ETaPR
R. D'r:n‘}:. ("Tt IS8 not nahndTOmP")

q. c;ubgbg [Dpuj;( En

fwo. (P substy ingtr:

¥ print (' subshr_l_g Jound l"),, -1 ]

[ K ol Do) A e
13 . print ("subhshring Not Found!’')
— 8 SSEF TR UE (M ERTSY Qe(‘_ond Shing : ")
52 (FIrs+ (Sty) == 1is+ (Sh2)°
¢ Print ("\n both Shri'ngs AQTe pquaJ +o0
each othey!')
I ETES
12. PTI.Q*: ("B\nbaoth GH‘r'm}s Qre nof—equal:")
Qutput:

Entey a string : welcome

.

Lpng'}-h 0OF +Hhe lnlnu+ th'ng 1527

Reverserd Qh‘fnf)r 1S emoclew)
T+ IS no+ Palfnd'romp

En+er a SubS'hrfna :Come

QUthrma Faund |

Entex ngnd G’h’lng . python

Bo+h Shrfngs aye not e?ual

Page- &)



~—==. | PDate

Sinhgad Institutes o

Heve ,user inputs | String ¥ Fi'nd length of string

i Ihm_sj:ung_Ls_rauxsgd_&_dLsmefenguj;;the_Sﬂm}

..,___:_!5 _palindyome Oy not is checked & dis P,Lay.s_mPS.SQQL
Second String 1o check equality 0FE+wo Strings

and deplm‘;rq message.

i

Page—@




Enter a string:Welcome
Length of the 1nput string 1s:

Reversed string is: Welcome
It is palindrome

Enter a substring:come
substring Found!

Enter second string:python

Both string are not equal.

[Program finished]}




